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1. NAFTA is a : 

(A)   Common market 

(B) Custom union  

(C) Free trade area 

(D) Monetary union 

 1. NAFTA gS % 

(A) lk>k cktkj 

(B) lhek la?k 

(C) Lora= O;kikj {ks= 

(D) ekSfnzd la?k 

2. Restricting the import of palm oil 

with a limit of 5000 ton per year is 

an example of : 

(A)   Tariff 

(B) Dumping 

(C) Quota 

(D) Subsidy 

 2. ike vk;y dk vk;kr o”kZ esa 5000 Vu gh 

djuk gSA mnkgj.k gS % 

(A) rVdj 

(B) jk’khikru 

(C) vH;a’k 

(D) lfClMh 

3. The price at which one cane enter 

into a contract today to buy and 

sell a current 30 day from now is 

called : 

(A)   Crawling exchange rate 

(B) Spot exchange rate 

(C) Adjustable exchange rate 

(D) Forward exchange rate 

 3. ;fn dksbZ O;fDr vkt dh fofue; nj ij 

30 fnu ckn eqnzk [kjhnus o cspus dk lkSnk 

djrk gS rks og nj dgykrh gS % 

(A) jsaxrh fofue; nj 

(B) rS;kj fofue; nj 

(C) lek;kstuh; fofue; nj 

(D) ok;nk fofue; nj 

4. Under flexible exchange rate 

system, exchange rate is 

determined by :  

(A)   Central bank intervention  

(B) The price of gold 

(C) Demand and supply of 

foreign exchange 

(D) Govt. intervention 

 4. ifjorZu’khy fofue; nj iz.kkyh esa fofue; 

nj dk fu/kkZj.k gksrk gS % 

(A) dsUnzh; cSad }kjk 

(B) lksus ds ewY; }kjk 

(C) fons’kh fofue; dh ekax o iwfrZ }kjk 

(D) ljdkjh gLr{ksi 
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5. TRIM stand for : 

(A)   Trade Related Investment 

Measures 

(B) Trade Related Insurance 

Measures 

(C) Trade Related Investment 

Method 

(D) Trade Related Improvement 

Method 

 5. TRIM dk iwjk vFkZ gS % 

(A)   Trade Related Investment 

Measures 

(B) Trade Related Insurance 

Measures 

(C) Trade Related Investment 

Method 

(D) Trade Related Improvement 

Method 

6. Asian Development Bank was 

established in : 

(A)   1966 

(B) 1978 

(C) 1980 

(D) 1959 

 6. ,f’k;u MsoyiesUV cSad dh LFkkiuk gqbZ Fkh % 

(A)   1966 

(B) 1978 

(C) 1980 

(D) 1959 

7. The reduction in domestic 

consumption due to imposition of 

Quota result in : 

(A)   Increase in Govt. revenue 

(B) Increase in consumption 

surplus 

(C) Loss of social welfare  

(D) Increase in social welfare 

 7. vH;a’k yxkus ds dkj.k tc ?kjsyw miHkksx esa 

deh vkrh gSA rks % 

(A) ljdkjh vk; c<+rh gS 

(B) miHkksDrk dh cpr c<+rh gS 

(C) lkekftd dY;k.k esa deh vkrh gS 

(D) lkekftd dY;k.k esa c<+ksŸkjh gksrh gS 
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8. Headquarter of IMF is located at : 

(A)   Geneva 

(B) London 

(C) Paris 

(D) Washington D. C. 

 8. vkbZŒ ,eŒ ,QŒ (IMF) dk eq[;ky; fLFkr 

gS % 

(A) tsusok 

(B) ynau 

(C) isfjl 

(D) okf’kaxVu MhŒ lhŒ 

9. Who issues the Special Drawing 

Rights (S. D.R.)  ? 

(A)   World Bank 

(B) IMF 

(C) ADB 

(D) WTO 

 9. S. D. R. dk fuxZeu dkSu djrk gS \ 

(A) fo’o cSad 

(B) IMF 

(C) ADB 

(D) WTO 

10. If the balance of payment of a 

country is adverse, then which 

institution will help the country ? 

(A)   World Bank 

(B) Asian Development Bank 

(C) World Trade Organization  

(D) I.M.F.  

 10. ;fn fdlh ns’k dk Hkqxrku larqyu fcxM+ 

tk;s rks fuEu esa ls dkSu lh laLFkk ml ns’k 

dh lgk;rk djsxh \ 

(A) fo’o cSad 

(B) ,f’k;u MsoyiesaV cSad 

(C) oYMZ VªsM vkxsZukbts’ku 

(D) vkbZŒ ,eŒ ,QŒ 

11. Where is the headquarter of 

SAARC ?  

(A)   Manila 

(B) Dhaka 

(C) Kathmandu 

(D) Jakarta 

 11. SAARC dk eq[;ky; fLFkr gS \ 

(A) euhyk 

(B) <kdk 

(C) dkBekaMq 

(D) tdkrkZ 
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12. Tariff on imports benefits 

domestic producers because : 

(A)   They get tariff revenue 

(B) Reduces producer’s surplus 

(C) It raises the price for which 

they can sell their product on 

domestic market 

(D) All of these 

 12. vk;kr iz’kqYd ls ?kjsyw mRikndksa dks ykHk 

gksrk gSA D;ksafd % 

(A) ‘kqYd esa fgLlk feyrk gSA 

(B) mRikndksa dh cpr de gks tkrh gSA 

(C) blls ?kjsyw cktkj esa dhersa c<+rh gSA 

ftl ij os viuh oLrq csp ldrs gSA 

(D) mi;qZDr lHkh 

13. Measures taken to improve the 

negative B. O. P. includes : 

(A)   Exchange control 

(B) Import substitution 

(C) Currency devaluation 

(D) All of these 

 13. _.kkRed Hkqxrku vlarqyu dks nwj djus ds 

fy, rjhds gS % 

(A) fofue; fu;a=.k 

(B) vk;kr izfrLFkkiu 

(C) eqnzk dk voewY;u 

(D) mi;qZDr lHkh 

14. Foreign direct investment is a part 

of : 

(A)   Trade account 

(B) Capital account 

(C) Current account 

(D) None of these 

 14. izR;{k fons’kh fuos’k fgLlk gS % 

(A) O;kikj ys[kk 

(B) iwath ys[kk 

(C) pkyw [kkrs dk 

(D) buesa ls dksbZ ugha 

15. The BOP account records the 

inflow of foreign exchange on the : 

(A)   Credit side 

(B) Debit side 

(C) Both (A)and (B) 

(D) None of these 

 15. Hkqxrku larqyu esa fons’kksa ls izkIr /ku fdl 

ys[ks esa j[kk tk,xk % 

(A) ysunkjh 

(B) nsunkjh 

(C) nksuksa (A) o (B) 

(D) buesa ls dksbZ ugha 
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16. Import of goods and services raise 

the _____ of foreign exchange. 

(A)   Demand 

(B) Supply 

(C) Both (A) and (B) 

(D) None of these 

 16. oLrqvksa o lsokvksa ds vk;kr esa òf) gksus ij 

fons’kh fofue; dh_____A  

(A) ekax esa òf) gksxh 

(B) iwfrZ esa òf) gksxh 

(C) (A) o (B) nksuksa 

(D) mi;qZDr esa ls dksbZ ugha 

17. Balance of payment uses the 

system of accounting : 

(A)   Single entry 

(B) Double entry 

(C) Cash basis 

(D) None of these 

 17. Hkqxrku larqyu ys[kk rS;kj fd;k tkrk gS % 

(A) bdgjh izfof”V 

(B) nksgjh izfof”V 

(C) udn vk/kkj 

(D) buesa ls dksbZ ugha 

18. If rupees 100 are required to buy 

one dollar (1$) instead of 70/- 

earlier : 

(A)   Rupee has appreciated 

(B) Rupee has depreciated 

(C) Value of rupee is constant 

(D) All of these 

 18. ;fn ,d Mkyj [kjhnus ds fy, 70 :Ik;s dh 

txg 100@&:i;s nsus iM+rs gS rks % 

(A) :Ik;s ds ewY; esa òf) gqbZ gS 

(B) :Ik;s ds ewY; esa fxjkoV gqbZ gS 

(C) :Ik;s dk ewY; fLFkj gS 

(D) mijksDr lHkh lgh gS  

19. Demand for foreign exchange and 

exchange rate is : 

(A)   Direct 

(B) Inverse  

(C) Proportional  

(D) All of these 

 19. fons’kh fofue; dh ekax o fofue; nj esa 

lEcU/k gksrk gS % 

(A) lh/kk lEcU/k 

(B) foijhr lEcU/k 

(C) lekuqikrh 

(D) lHkh lgh gS 
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20. Balance of trade includes : 

(A)   Import and export of services 

(B) Import and export of goods 

(C) Import and export of services 

and goods  

(D) Total export and import 

 20. O;kikj larqyu esa ‘kkfey gksrk gS % 

(A) lsokvksa dk vk;kr o fu;kZr 

(B) oLrqvksa dk vk;kr o fu;kZr 

(C) oLrqvksa o lsokvksa dk vk;kr o fu;kZr 

(D) dqy vk;kr o fu;kZr 

21. The rate which is determined by 

the government is known : 

(A)   Fixed exchange rate 

(B) Flexible exchange rate 

(C) Floating exchange rate 

(D) None of these 

 21. tks fofue; nj ljdkj }kjk fu/kkZfjr dh 

tkrh gS % 

(A) ca/kh fofue; nj 

(B) ifjorZu’khy fofue; nj 

(C) rSjrh fofue; nj 

(D) buesa ls dksbZ ugha 

22. Foreign direct investment is a part 

of : 

(A)   Capital account  

(B) Current account 

(C) Trade account 

(D) Saving account 

 22. lh/kk fons’kh fuos’k Hkkx gS % 

(A) iwath [kkrs dk 

(B) pkyw [kkrs dk 

(C) O;kikj [kkrk  

(D) cpr [kkrk 

23. The component of B.O.P. accounts 

are : 

(A)   Capital account  

(B) Current account  

(C) Both (A)&(B) 

(D) None of these 

 23. Hkqxrku larqyu ys[ks ds vaax gS % 

(A) iwath [kkrk 

(B) pkyw [kkrk 

(C) nksuksa (A) ,oa (B) 

(D) buesa ls dksbZ ugha  
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24. Balance of payment is an 
accounting statement between : 
(A)   Resident of a country and rest 

of the world 
(B) Foreigners and rest of the 

world 
(C) Non resident and rest of the 

world 
(D) Between Nonresident and 

non-resident 

 24. Hkqxrku larqyu vkfFkZd ysu nsu dk laf{kIr 

fooj.k gSA tks % 

(A) mlds ,oa ‘ks”k fo’o ds fuokfl;ksa ds 

chp fd, tkrs gS 

(B) fons’kh ,oa ‘ks”k fo’o ds chp 

(C) vfuoklh o ‘ks”k fo’o ds chp 

(D) vfuoklh o vfuoklh yksxksa ds chp 

25. Speculation in foreign exchange 
market refers to : 
(A)   Accepting risk to make profit 
(B) To make loss 
(C) Arbitrage  
(D) None of these 

 25. fons’kh fofue; cktkj esa lês dk vFkZ gS % 

(A) [krjk mBkrs gq, ykHk dekuk 

(B) gkfu mBkuk 

(C) vUrj iM+uk 

(D) buesa ls dksbZ ugha 

26. Purchasing power parity theory 

was propounded by : 

(A)   Adam Smith 

(B) Marshall 

(C) Gustav Cassel 

(D) Ricardo 

 26. Ø; ‘kfDr lerk fl)kUr dk izfriknu 

fd;k Fkk % 

(A) ,Me fLeFk 

(B) ek’kZy 

(C) xqLrko dSly 

(D) fjdkMksZ 

27. Exchange rate refers to the rate at 

which the following is exchanged: 

(A)   Services 

(B) Gold 

(C) Currencies 

(D) Goods 

 27. fofue; nj og nj gSA ftl ij fofue; 

gksrk gS% 

(A) lsok,a 

(B) lksuk 

(C) eqnzk 

(D) oLrq 
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28. If exports are less than import than 

balance of payment is : 

(A)   Deficit 

(B) Surplus 

(C) Balanced 

(D) None of these 

 28. ;fn fu;kZr vk;kr ls de gks rks Hkqxrku 

larqyu gksxk % 

(A) ?kkVs dk 

(B) Qk;ns dk 

(C) larqyu esa 

(D) buesa ls dksbZ ugha 

29. Similar to import tariff, import 

Quotas tend to result in : 

(A)   Increase consumer surplus 

(B) Decreased in producer’s 

surplus  

(C) Static revenue 

(D) Higher prices and reduce 

imports 

 29. vk;kr iz’kqYd dh rjg vk;kr vH;a’k dk 

izHkko Hkh % 

(A) miHkksDrk cpr dks c<+kuk  

(B) mRiknd dh cpr de djuk 

(C) jktLo dks fLFkj j[kuk 

(D) dherksa esa òf) o vk;kr de djuk 

30. Welfare effect of quota depend on: 

(A)   The size of Quota 

(B) Elasticity of domestic 

demand & supply 

(C) (A) and (B) 

(D) None of these 

 30. vH;a’k dk dY;k.kdkjh izHkko fuHkZj djrk gS% 

(A) vH;a’k dk vkdkj 

(B) ?kjsyw ekax o iwfrZ dh yksp 

(C) (A) o (B) nksuksa 

(D) buesa ls dksbZ ugha 

31. Foreign trade creates among 

countries : 

(A)   Conflict 

(B) Cooperation 

(C) Haterd 

(D) Jealous 

 31. fons’kh O;kikj nks ns’kksa ds chp iSnk djrk gS% 

(A) >xMs+ 

(B) lg;ksx 

(C) uQjr 

(D) bZ”;kZ 
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32. Net exports equal : 

(A)   Export + Import 

(B) Export × Import 

(C) Export - Import 

(D) Export - Tax 

 32. ‘kq) fu;kZr gksrk gS % 

(A) fu;kZr $ vk;kr 

(B) fu;kZr × vk;kr 

(C) fu;kZr & vk;kr 

(D) fu;kZr & dj 

33. Dumping occurs when a firm sells 

a product abroad at a price : 

(A)   Less than average total cost 

(B) Less than average variable 

cost 

(C) Less than fixed cost 

(D) Less than marginal cost 

 33. jk’khikru gksrk gSA tc ,d QeZ oLrq dks 

fons’kh cktkj esa csprh gS % 

(A) vkSlr ykxr ls de ij 

(B) vkSlr ifjorZu’khy ykxr ls de ij 

(C) ca/kh ykxr ls de ij 

(D) lhekUr ykxr ls de ij 

34. Quotas are government imposed 

limits on the ______ of goods 

traded between countries. 

(A)   Price 

(B) Quantity 

(C) Quality 

(D) None of these 

 34. vH;a’k ljdkj }kjk nks ns’kksa ds chp gksus 

okyh oLrqvksa dks ______fu;fU=r djrk 

gSA 

(A) dher 

(B) ek=k 

(C) xq.koŸkk 

(D) buesa ls dksbZ ugha 

35. Tariff have : 

(A)   Only revenue effect 

(B) Only protection effect 

(C) Both (A)&(B) 

(D) None of these 

 35. iz’kqYd dk izHkko gksrk gS % 

(A) dsoy vk; izHkko 

(B) dsoy laj{k.k izHkko 

(C) (A) o (B) nksuksa 

(D) buesa ls dksbZ ugha 
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36. “Labour is the only factor of 

production” according to______ 

theory.   

(A)   Classical 

(B) Modern 

(C) Neoclassical 

(D) None of these 

 36. _______ fl)kUr ds vuqlkj dsoy Je gh 

mRiknu dk ,dek= lk/ku gSA 

(A) ijEijkoknh 

(B) vk/kqfud 

(C) uoijEijkoknh 

(D) buesa ls dksbZ ugha 

37. A tariff can _______raise a 

country’s welfare. 

(A)   Always 

(B) Sometime 

(C) Never 

(D) None of the above 

 37. rVdj dk ns’k ij _______dY;k.kdkjh 

izHkko iM+rk gSA  

(A) ges’kk 

(B) dHkh dHkh 

(C) dHkh ugha 

(D) mi;qZDr esa ls dksbZ ugha 

38. Specific tariffs are collected : 

(A)   Fixed amount of money per 

unit traded according to 

weight 

(B) According to price 

(C) Both (A)&(B) 

(D) None of the above 

 38. fof’k”V iz’kqYd yxk;k tkrk gS % 

(A) eqnzk dh ,d fuf’pr ek=k izfr bdkbZ 

Hkkj vuqlkj  

(B) ewY; vuqlkj 

(C) (A) o (B) nksuksa 

(D) mi;qZDr esa ls dksbZ ugha 

39. Leontief used an input output table 

in order to test the : 

(A)   MacDougall theory 

(B) J. L. Floral theory 

(C) Heckscher Ohlin theory  

(D) Stolper theory 

 39. Y;ksuVhQ us fdl fl)kUr dks ekius ds fy, 

bUkiqV&vkmViqV rkfydk dk iz;ksx fd;k % 

(A) eSDMqxy fl)kUr 

(B) tsŒ ,yŒ ¶yksjy fl)kUr 

(C) gsDlpj vksgfyu fl)kUr 

(D) LVksyij fl)kUr 
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40. _______ is the oldest international 

trade theory. 

(A)   Mercantilist theory 

(B) Ricardian theory 

(C) Reciprocal demand theory 

(D) Purchasing power parity 

theory 

 40. vUrjkZ”Vªh; O;kikj dk izkphu fl)kUr 

gS_______A 

(A) of.kdoknh fl)kUr 

(B) fjdkMksZ dk fl)kUr 

(C) ikjLifjd ekax dk fl)kUr 

(D) Ø; ‘kfDr lerk fl)kUr 

41. International trade and domestic 

trade differ because of : 

(A)   Immobility of factors 

(B) Differences in National 

Policies 

(C) Differences in monetary units 

(D) All of the above 

 

 41. vUrjkZ”Vªh; O;kikj ,oa vUr{ksZ=h; O;kikj 

vyx gSA D;ksafd % 

(A) lk/kuksa dh vxfr’khyrk 

(B) jk”Vªh; uhfr;ksa esa fHkUurk 

(C) ekSfnzd bdkb;ksa esa vUrj 

(D) mi;qZDr lHkh 

42. Theory of reciprocal demand is 

given by : 

(A)   Robinson 

(B) Leontief 

(C) J. S. Mill 

(D) Ohlin 

 42. ikjLifjd ekax dk fl)kUr fn;k Fkk % 

(A) jkWfcUlu 

(B) Y;ksufVQ 

(C) tsŒ ,lŒ fey 

(D) vksgfyu 
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43. The opportunity cost theory 

assumes that : 

(A)   Labour is the only factor of 

production 

(B) Labour is homogenous 

(C) Price of a commodity can be 

determined by the labour 

content in it  

(D) None of the above 

 43. volj ykxr fl)kUr ekU;rk ij vk/kkfjr 

gS % 

(A) dsoy Je gh mRiknu dk lk/ku gSA 

(B) Je dh lHkh bdkbZ;k¡ leku gSA 

(C) oLrq dh dher dk fu/kkZj.k mlesa 

fufgr Je dh ek=k ls gksrk gSA 

(D) mi;qZDr esa ls dksbZ ugha 

44. Absolute advantage theory 

assumes : 

(A)   No transportation cost  

(B) No technological change 

(C) Labour theory of value 

(D) All of these 

 44. fujis{k ykxr fl)kUr dh ekU;rk,a gS % 

(A) ifjogu ykxrksa dk vHkko 

(B) rduhd esa dksbZ ifjorZu ugha 

(C) Je ewY; fl)kUr  

(D) mi;qZDr lHkh 

45. “An enquiry into the nature and 

causes of wealth of Nation” is 

written by : 

(A)   J. S. Mill 

(B) Haberler 

(C) Adam Smith 

(D) Pareto 

 45. “An enquiry into the nature and 

causes of wealth of Nation”ds ys[kd gSa 

% 

(A) tsŒ ,lŒ fey 

(B) gScjyj 

(C) ,Me fLeFk 

(D) isjsVks 

46. India is _______abundant country 

is a.  

(A)   Capital 

(B) Labour  

(C) Both (A)&(B) 

(D) None of the above 

 46. Hkkjr ,d _______iz/kku ns’k gSA  

(A) iwath iz/kku 

(B) Je iz/kku 

(C) mi;qZDr nksuksa 

(D) mi;qZDr esa ls dksbZ ugha  
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47. Factor endowment theory is also 

known as : 

(A)   Opportunity cost theory 

(B) Value theory 

(C) Labour theory 

(D) Hecksher-Ohlin theory  

 47. lk/ku nsu fl)kUr dks tkuk tkrk gS % 

(A) volj ykxr 

(B) ewY; fl)kUr 

(C) Je fl)kUr 

(D) gsDlpj&vksgfyu fl)kUr 

48. Trade between two or more 

countries is known as : 

(A)   Interregional trade 

(B) Local trade 

(C) International trade 

(D) Interstate trade 

 48. nks ;k nks ls vf/kd ns’kksa ds chp O;kikj 

dgykrk gS % 

(A) vUr{kZs=h; O;kikj 

(B) yksdy O;kikj 

(C) vUrjkZ”Vªh; O;kikj 

(D) vUrjkZT;h; O;kikj 

49. Open economy means : 

(A)   Fixed exchange rate 

(B) Flexible exchange rate 

(C) Trade with other countries 

(D) None of the above 

 49. [kqyh vFkZO;oLFkk dk vFkZ gS % 

(A) ca/kh fofue; nj 

(B) ifjorZu’khy fofue; nj 

(C) vU; jk”Vªksa ls O;kikj 

(D) mi;qZDr esa ls dksbZ ugha 

50. Who propounded the absolute 

advantage theory ?  

(A) David Ricardo 

(B) J. S. Mill 

(C) Adam smith  

(D) J. M. Keynes 

 50. fujis{k ykxr dk fl)kUr fn;k Fkk \ 

(A) MsfoM fjdkMksZ 

(B) tsŒ ,lŒ fey 

(C) ,Me fLeFk  

(D) tsŒ ,eŒ dsUt 
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51. According to Ricardo international 

trade is beneficial under cost : 

(A)   Absolute 

(B) Comparative 

(C) Opportunity  

(D) None of these 

 51. fjdkMksZ ds vuqlkj vUrjkZ”Vªh; O;kikj 

ykHknk;d gksxk tc Ykkxr % 

(A) fujis{k gksxh 

(B) rqyukRed gksxh 

(C) volj ykxr 

(D) bues als dksbZ ugha 

52. U.S.A. economy is : 

(A)   Capital rich country 

(B) Labour rich country  

(C) (A) and (B) 

(D) (A) and (B) not both 

 52. vesfjdh vFkZO;oLFkk gS % 

(A) iwath iz/kku 

(B) Je iz/kku 

(C) (A) o (B) nksuksa 

(D) (A) o (B) nksuksa ugha 

53. Indian Economy is : 

(A)   Closed economy 

(B) Open economy 

(C) Both (A) and (B) 

(D) Only (B) 

 53. Hkkjrh; vFkZO;oLFkk gS % 

(A) cUn vFkZO;oLFkk 

(B) [kqyh vFkZO;oLFkk 

(C) (A),oa (B) nksuksa 

(D) dsoy (B) 

54. No International Trade : 

(A)   Open economy 

(B) Socialist economy 

(C) Mixed economy 

(D) Closed economy 

 54. dksbZ vUrjkZ”Vªh; O;kikj ugha gksrk gS % 

(A) [kqyh vFkZO;oLFkk 

(B) lektoknh vFkZO;oLFkk 

(C) fefJr vFkZO;oLFkk 

(D) cUn vFkZO;oLFkk 
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55. International trade______. 

(A)   Stimulate innovation 

(B) Reduces cost of production  

(C) Diversity consumption  

(D) All of these 

 55. vUrjkZ”Vªh; O;kikj ______A 

(A) uoizorZu dks c<+krk gS 

(B) mRiknu ykxr esa deh ykrk gS 

(C) miHkksx esa fofo/krk ykrk gS 

(D) mi;qZDr lHkh 

56. In a closed economy : 

(A)   Production = Consumption  

(B) No International trade 

(C) (A) and (B) 

(D) None of these 

 56. can vFkZO;oLFkk esa gksrk gS % 

(A) mRiknu = miHkksx 

(B) vUrjkZ”Vªh; O;kikj ugha gksrk  

(C) (A) ,oa (B) 

(D) bues als dksbZ ugha 

57. On which import item the 
maximum amount of foreign 
exchange is spent in recent years 
in India ? 
(A)   Gold 
(B) Cotton 
(C) Petrol & Petroleum products  
(D) Fertilizers 

 57. fiNys dqN o”kksZ ls fdl oLrq ds vk;kr ij 

Hkkjr lcls vf/kd fons’kh eqnzk [kpZ djrk 

gS\ 

(A) lksuk 

(B) dkWVu 

(C) isVªksy o isVªksfy;e inkFkZ 

(D) [kkn 

58. Nations conduct international trade 
because : 
(A)   Interest rates are different 
(B) Resources are not equally 

distributed among trading 
nations 

(C) Both (A) and (B) 
(D) Only (B) 

 58. jk”Vªksa ds chp vUrjkZ”Vªh; O;kikj gksrk gSA 

D;ksafd % 

(A) C;kt nj vyx&vyx gksrh gS 

(B) O;kikfjd jk”Vªksa ds chp mRiknu ds 

lalk/ku ,d leku ugha gksrs  

(C) (A) o (B) nksuksa 

(D) dsoy (B) 
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59. Relatively high real interest rates 

in India tend to : 

(A)   Decrease the foreign demand 

for Rupee 

(B) Static foreign demand for 

Rupee 

(C) Increase the foreign demand 

for Rupee causing the Rupee 

to appreciate 

(D) None of these 

 59. Hkkjr esa rqyukRed :Ik ls Åaph C;kt nj 

dk izHkko gksxk % 

(A) Hkkjrh; :Ik;s dh fons’kh ekax de 

gksxh 

(B) Hkkjrh; :Ik;s dh ekax fLFkj jgsxh  

(C) Hkkjrh; :Ik;s dh fons’kh ekax c<s+xh 

ftlls mldk ewY; c<s+xk 

(D) bues als dksbZ ugha 

60. W.T.O. come into existence at the 

conclusion of which round of 

GATT : 

(A)   Uruguay 

(B) Singapore 

(C) Marrakesh 

(D) Tokyo 

 60. W.T.O. fo’o O;kikj laxBu GATT ds 

fdl vf/kos’ku esa vfLrRo esa vk;k % 

(A) m:Xos 

(B) flaxkiqj 

(C) ejkd’k 

(D) VksD;ks 

61. Market in which foreign currencies 

buy &sale and their price settle is 

called : 

(A)   Money market 

(B) Goods market 

(C) International market  

(D) Foreign exchange market 

 61. og cktkj tgka fons’kh eqnzk dk Ø; foØ; 

,oa ewY; fu/kkZj.k gksrk gSA dgykrh gS %  

(A) eqnzk cktkj 

(B) oLrq cktkj 

(C) vUrjkZ”Vªh; cktkj 

(D) fons’kh fofue; cktkj 
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62. Dumping refers to : 

(A)   Sale of goods at lower price 

in home market 

(B) Reducing tariff 

(C) Sale of good abroad at lower 

price below their cost 

(D) None of these 

 62. jk’khikru dk vFkZ gS % 

(A) ?kjsyw cktkj esa oLrq dks de dher esa 

cspuk 

(B) iz’kqYd de djuk 

(C) fons’kh cktkj esa oLrq dks ykxr ls 

de ij cspuk 

(D) bues als dksbZ ugha 

63. The fundamental objective of 

______ is finance government 

expenditure. 

(A)   Personal income 

(B) Firm’s income 

(C) Taxation 

(D) Insurance 

 63. ______ vk/kkjHkwr mís’; ljdkjh [kpZ dk 

foŸk iks”k.k djuk gksrk gSA 

(A) O;fDrxr vk; 

(B) QeZ dh vk; 

(C) dj 

(D) chek 

64. Foreign exchange______ is the 

price at which foreign currency is 

exchanged.  

(A)   Market 

(B) Rate 

(C) Finance 

(D) Management 

 64. fons’kh fofue; ______ og dher gSA 

ftl ij fons’kh eqnzk dks cnyk tkrk gSA 

(A) cktkj 

(B) nj  

(C) foŸk 

(D) izcU/k 

65. Characteristic of MNC : 
(A)   Operate only in one country 
(B) Operate in more than two 

countries 
(C) (A) and (B) 
(D) None of these 

 65. cgqjk”Vªh; dEiuh dh fo’ks”krk gS % 

(A) dsoy ,d ns’k esa mRiknu djrh gS 

(B) nks ls vf/kd ns’kksa esa mRiknu djrh gS 

(C) (A) ,oa (B)nksuksa 

(D) bues als dksbZ ugha  
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66. What happens when imports are 

more than export : 

(A)   Trade deficit 

(B) Trade surplus 

(C) Trade contract 

(D) None of these 

 66. tc vk;kr fu;kZr ls vf/kd gksxk % 

(A) O;kikfjd ?kkVk 

(B) O;kikfjd cpr 

(C) O;kikfjd lkSnk 

(D) buesa ls dksbZ ugha 

67. BOP stands for : 

(A)   Bill of Payment 

(B) Bank of Payment 

(C) Barrier of Payment 

(D) Balance of Payment 

 67. BOP dk vFkZ gS % 

(A)   Bill of Payment 

(B) Bank of Payment 

(C) Barrier of Payment 

(D) Balance of Payment 

68. In India the term “Hot money” is 

used to refer : 

(A)   F. D. I. 

(B) Foreign portfolio investment 

(C) Long term investment 

(D) None of these 

 68. Hkkjr esa ÞgkV euhß ‘kCn dk iz;ksx gksrk gS % 

(A) ,QŒ MhŒ vkbZŒ  

(B) fons’kh iksVZQksfy;ks fuos’k 

(C) yEcs le; ds fy, fuos’k 

(D) buesa ls dksbZ ugha 

69. “The principles of Political 

Economy and Taxation” is written 

by :  

(A)   Marshall 

(B) Adam Smith 

(C) David Ricardo 

(D) J. S. Mill 

 69. “The principles of Political Economy 

and Taxation”  ds ys[kd gS % 

(A) ek’kZy 

(B) ,Me fLeFk 

(C) MsfoM fjdkMksZ 

(D) tsŒ ,lŒ fey 
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70. The Quota for all the member 

countries with IMF are valued in 

terms of : 

(A)   S. D. R. 

(B) U. S. Dollar 

(C) Their Domestic currency 

(D) Both (A) and (B) 

 70. IMF ds lnL; ns’kksa ds dksVs dk fu/kkZj.k 

gksrk gS % 

(A) ,lŒ MhŒ vkjŒ 

(B) vesfjdu Mkyj 

(C) ?kjsyw eqnzk 

(D) nksuksa (A) ,oa (B) 

71. W.T.O. stand for : 
(A)   World Tour Organisation 
(B) World Tour Office 
(C) World Travel Organisation  
(D) World Trade Organisation 

 71. W.T.O. dk vFkZ gS % 

(A)   World Tour Organisation 
(B) World Tour Office 
(C) World Travel Organisation  
(D) World Trade Organisation 

72. TRIPS stand for : 

(A)   Tour Related Intellectual 

Property Rights 

(B) Trade Related Aspects of 

Intellectual Property Rights 

(C) Trade Related Information 

Polices  

(D) Trade Related Information 

about Property 

 72. TRIPS dk vFkZ gS % 

(A)   Tour Related Intellectual 

Property Rights 

(B) Trade Related Aspects of 

Intellectual Property Rights 

(C) Trade Related Information 

Polices  

(D) Trade Related Information 

about Property 

73. Which one of the following Asian 
countries has the highest share in 
the World export ? 
(A)   Nepal 
(B) India 
(C) Singapore 
(D) China 

 73. fuEu ,f’k;kbZ ns’kksa esa ls fdl ns’k dk lalkj 

ds fu;kZr esa vf/kd fgLlk gS \ 

(A) usiky 

(B) Hkkjr 

(C) flaxkiqj 

(D) phu 
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74. Upto 1991, India’s trade policy 

was: 

(A)   Export promotion & import 

substitution  

(B) Export substitution and 

import promotion  

(C) Export promotion and import 

substitution 

(D) Export and import 

substitution 

 74. 1991 rd Hkkjr dh O;kikj uhfr Fkh % 

(A) fu;kZr òf) vk;kr òf) 

(B) fu;kZr izfrLFkkiu o vk;kr esa òf) 

(C) fu;kZr esa òf) o vk;kr izfrLFkkiu 

(D) fu;kZr o vk;kr izfrLFkkiu 

75. Under British rule, India’s foreign 
trade was directed toward Britain : 
(A)   10% 
(B) 20% 
(C) 25% 
(D) More than 50% 

 75. fczfV’k lkezkT; ds vUrxZr Hkkjr dk O;kikj 

fczVsu ds lkFk gksrk Fkk % 

(A) 10% 
(B) 20% 
(C) 25% 

(D) 50% T;knk 

76. If Nepal runs current account 

deficit and exchange rate are 

floating : 

(A)   Nepalese export becomes 

more expensive to foreign 

buyers 

(B) Nepalese export becomes less 

expensive to foreign buyers 

(C) Both (A) and (B) 

(D) None of these 

 76. ;fn usiky dks pkyw [kkrs esa ?kkVk gks o 

fofue; nj ifjorZu’khy gks rks % 

(A) usiky dk fu;kZr fonsf’k;ksa ds fy, 

vf/kd egaxk gksxk 

(B) usiky dk fu;kZr fonsf’k;ksa ds fy, 

de egaxk gksxk  

(C) nksuksa (A) o (B) 

(D) buesa ls dksbZ ugha 



Series-D B.A.– 301-N Page - 23 

77. The exchange value of the Indian 

rupee in primarily determined by : 

(A)   The rate of inflation in India 

(B) The number of rupee printed 

by the Indian Govt. 

(C) The international demand and 

supply for Rupee 

(D) None of these 

 77. Hkkjrh; :Ik;s dh fofue; nj dk fu/kkZj.k 

izkFkfed :Ik ls fuHkZj djrk gS % 

(A) Hkkjr esa eqnzk LQhfr dh nj ij 

(B) Hkkjr ljdkj }kjk fdrsu uksV Nkis 

tkrs gS 

(C) :Ik;s dh vUrjkZ”Vªh; ekax o iwfrZ }kjk  

(D) buesa ls dksbZ ugha 

78. Which of the following categories 

of agricultural subsidies for comes 

under W.T.O. ? 

(A)   Green box 

(B) Blue box 

(C) Red box 

(D) Amber box 

 78. W.T.O. ds vUrZxr —f”k dks vkfFkZd 

lgk;rk fuEu esa ls fdl oxZ esa vkrh gS \ 

(A) xzhu ckDl 

(B) Cyw ckDl 

(C) jsM ckDl 

(D) vEcj ckDl  

79. All of the following are trade 

problems of developing countries 

except : 

(A)   Unstable export market 

(B) Improving terms of trade 

(C) Limited access to the market 

of industrial countries 

(D) Highly elastic demand curves 

for their product 

 79. fodkl’khy ns’kksa ds fy, lHkh O;kikfjd 

leL;k;sa gSA flok; ,d ds % 

(A) vfLFkj fu;kZr cktkj 

(B) O;kikj dh ‘krksaZ esa lq/kkj 

(C) vkS|ksfxd ns’kksa ds cktkj esa lhfer 

izos’k  

(D) mRiknu dk ekax oØ vf/kd ykspnkj 

gksuk 
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80. When did WTO come into 

existence : 

(A)   1994 

(B) 1995 

(C) 1996 

(D) 1997 

 80. WTO vfLrRo esa vk;k % 

(A)   1994 

(B) 1995 

(C) 1996 

(D) 1997 

81. International trade is based on the 

idea that_____. 

(A)   Import > Export 

(B) Import = Export 

(C) Export < Import 

(D) Resources are less mobile 

internationally than are goods 

 81. vUrjkZ”Vªh; O;kikj _____fopkj ij 

vk/kkfjr gSA 

(A) vk;kr > fu;kZr 

(B) vk;kr = fu;kZr 

(C) fu;kZr < vk;kr 

(D) lk/kuksa dh vUrjkZ”Vªh; xfr’khyrk 

oLrqvksa ds eqdkcys de gksrh gS 

82. Which of the following is the main 

objective behind the establishment 

of WTO ? 

(A)   To settle disputes between 

nations 

(B) To widen the principle of free 

trade to sectors such as 

services and agriculture  

(C) To cover more areas than 

GATT 

(D) All of these 

 82. WTO cukus ds ihNs eq[; mís’; Fkk \ 

(A) ns’kksa ds chp >xM+s lqy>kuk 

(B) eqDr O;kikj ds fl)kUr dks lsok ,oa 

—f”k {ks= esa foLrkj djuk 

(C) GATT ds eqdkcys vf/kd {ks= esa 

foLrkj djuk 

(D) mi;qZDr lHkh 
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83. Which of the following possible 
negative impacts of FDI on 
domestic firms in host country ? 
(A)   Market monopoly 
(B) Technological dependence 
(C) Profit outflow 
(D) All of the above 

 83. fuEu esa ls dkSu lk izR;{k fons’kh fuos’k dk 

udkjkRed izHkko ?kjsyw dEifu;ksa ij iM+rk 

gS\ 

(A) cktkj ,dkf/kdkj 

(B) rduhdh fuHkZjrk 

(C) ykHk dk ckgj tkuk 

(D) mi;qZDr lHkh 

84. Which of the following is not the 
objective of the WTO ? 
(A)   To improve the standard of 

living of people of the 
member countries 

(B) To enlarge production and 
trade of goods  

(C) To protect environment 
(D) To improve the human rights 

situation of the member 
states 

 84. fuEu esa ls dkSu lk WTO dk mís’; ugha 

gS \ 

(A) lnL; ns’kksa ds yksxksa ds thou Lrj esa 

òf) djuk  

(B) mRiknu ,oa O;kikj esa òf) djuk 

(C) Ik;kZoj.k dh j{kk djuk 

(D) lnL; ns’kksa ds ekuokf/kdkj esa lq/kkj 

djuk 

85. FDI stands for : 
(A)   Federal Development Index 
(B) Federal Department of 

Investigation 
(C) Foreign Direct Investment 
(D) Forest Development Index 

 85. FDI dk vFkZ gS % 

(A)   Federal Development Index 
(B) Federal Department of 

Investigation 
(C) Foreign Direct Investment 
(D) Forest Development Index 

86. Adverse BOP is when : 
(A)   Export = Import 
(B) Export > Import 
(C) Export < Import 
(D) None of the above 

 86. foijhr Hkqxrku larqyu gksxk % 

(A) fu;kZr = vk;kr 

(B) fu;kZr > vk;kr 

(C) fu;kZr < vk;kr 

(D) mi;qZDr esa ls dksbZ ugha 
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87. Foreign direct investment can 

boost : 

(A)   Population 

(B) Employment 

(C) Unemployment 

(D) None of these 

 87. izR;{k fons’kh fuos’k c<+k,xk % 

(A) tula[;k 

(B) jkstxkj 

(C) csjkstxkjh 

(D) buesa ls dksbZ ugha 

88. WTO headquarter is in : 

(A)   Paris 

(B) New York 

(C) Chicago 

(D) Geneva 

 88. WTO dk eq[;ky; dgk¡ fLFkr gS \ 

(A) isfjl 

(B) U;w;ksdZ 

(C) f’kdkxks 

(D) tsusok 

89. A country to which country 

exports and the countries from 

which it imports called : 

(A)   Direction of trade 

(B) Balance of trade 

(C) Composition of trade 

(D) None of these 

 89. ,d ns’k fdu ns’kksa dks fu;kZr djrk gS \ o 

fdu ns’kksa ls vk;kr djrk gSA dgykrk gS % 

(A) O;kikj dh fn’kk 

(B) O;kikj larqyu 

(C) O;kikj lajpuk 

(D) buesa ls dksbZ ugha  
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90. Which of the following statement 

about ADB is correct ? 

(A)   ADB has 10 member nations 

(B) The headquarter of ADB is in 

Tokyo  

(C) Japan is one of the largest 

shareholder of the Bank 

(D) ADB does not have any 

members from outside Asia 

 90. ADB¼,f’k;kbZ fodkl cSad½ ds lEcU/k esa 

fuEu esa ls dkSu lk dFku lR; gS \ 

(A) ADB ds lnL; ns’kksa dh la[;k 10 

gS 

(B) ADB dk eq[;ky; VksD;ks esa gS 

(C) cSad esa lcls T;knk fgLlk tkiku dk 

gS 

(D) ,f’k;k ls ckgj ds ns’k blds lnL; 

ugha gS 

91. Types of goods and services a 

country exports and import is 

called : 

(A)   Trade balance 

(B) Composition of trade 

(C) Balance of payment 

(D) Current account 

 91. ,d ns’k fdl rjg dh oLrqvksa ,oa lsokvksa 

dk fu;kZr ,oa vk;kr djrk gSA dgykrk gS%  

(A) O;kikj larqyu 

(B) O;kikj lajpuk 

(C) Hkqxrku larqyu 

(D) pkyw [kkrk 

92. Which of the following item was 

not exported prior to 

Independence? 

(A)   Cotton Textile 

(B) Tea 

(C) Jute 

(D) Engineering goods 

 92. vktknh ls igys fuEu esa ls dkSu lh oLrq 

dk fu;kZr ugha fd;k tkrk Fkk \ 

(A) lwrh diM+k 

(B) pk; 

(C) twV 

(D) bathfu;fjax oLrq,a 
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93. Which of the following country 

has the highest subscribed capital 

of the Asian Development Bank : 

(A)   India 

(B) Japan 

(C) Srilanka 

(D) Nepal 

 93. ,f’k;kbZ fodkl cSad dh iwath esa lokZf/kd 

fgLlk dkSu ls ns’k dk gS \ 

(A) Hkkjr 

(B) tkiku 

(C) Jhyadk 

(D) usiky 

94. Which of the following institution 

is not a part of the World Bank ? 

(A)   IBRD 

(B) IDA 

(C) IFC 

(D) WTO 

 94. fuEu esa ls dkSu lh laLFkk fo’o cSad dk 

fgLlk ugha gS \ 

(A) IBRD 

(B) IDA 

(C) IFC 

(D) WTO 

95. The form of assistance that 

member of World Bank get is :  

(A)   Political and economic 

(B) Political and technical 

(C) Financial assistance 

(D) None of these 

 95. fo’o cSad lnL; ns’kksa dh lgk;rk djrk gS% 

(A) jktuSfrd ,oa vkfFkZd 

(B) jktuSfrd ,oa rduhdh 

(C) foŸkh; lgk;rk 

(D) buesa ls dksbZ ugha 
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96. Which of the following statement 

is false ? 

(A)   IFC was established in July 

1956 

(B) IFC encourage the growth of 

development of public sector 

enterprises in member 

countries 

(C) IFC is an affiliate of the 

World Bank 

(D) IFC encourage the growth of 

productive private enterprises 

in member countries 

 96. fuEu esa ls dkSu lk dFku vlR; gS \ 

(A) IFC dh LFkkiuk tqykbZ 1956 dks gqbZ 

(B) IFC lnL; ns’kksa ds ljdkjh miØeksa 

ds fodkl ,oa òf) ij tksj nsrk gS 

(C) IFC fo’o cSad dh laLFkk gS  

(D) IFC lnL; ns’kksa ds futh miØeksa ds 

fodkl dks c<+kok nsrk gS 

97. The International Bank for 
Reconstruction and Development 
(IBRD) is also known as : 
(A)   World Bank 
(B) IMF 
(C) WTO 
(D) WHO 

 97. vUrjkZ”Vªh; iqufuZekZ.k rFkk fodkl cSad dks 

(IBRD) tkuk tkrk gS % 

(A) fo’o cSad 

(B) IMF 
(C) WTO 
(D) WHO 

98. Which of the following currency 
has largest weightage in the 
determination of the value of S. D. 
R. ? 
(A)   U. S. Dollar 
(B) Japanese Yen 
(C) Euro 
(D) Indian Rupee 

 98. S.D.R. ds ewY; fu/kkZj.k esa fuEu esa ls fdl 

eqnzk dk Hkkjkad lcls T;knk gS \ 

(A) vesfjdu Mkyj 

(B) tkikuh ;su 

(C) ;wjks 

(D) Hkkjrh; :Ik;k 
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99. IMF was established in : 

(A)   December 1945 

(B) December 1948 

(C) January 1947 

(D) August 1950 

 99. IMF dh LFkkiuk gqbZ Fkh % 

(A) fnlEcj&1945  

(B) fnlEcj&1948 

(C) tuojh&1947 

(D) vxLr&1950 

100. A country’s transaction with the 

rest of the world are recorded in 

the  : 

(A)   Balance of payment 

(B) Income statement 

(C) Current account 

(D) None of these 

 100. ,d ns’k dk fo’o ds vU; ns’kksa ls ysu nsu 

dk ys[kk tks[kk dgykrk gS % 

(A) Hkqxrku larqyu 

(B) vk; ys[kk 

(C) pkyw [kkrk 

(D) buesa ls dksbZ ugha 
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Rough Work / jQ dk;Z 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Series-D B.A.– 301-N Page - 32 

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which All 100 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


